C_16 Ch 7 Key 2022 Hand-in

Tuesday, March 1,2022  4:11PM

= [ @  C_16 Ch 7 Hand-in 2022
@- C_16 Ch 7 Hand-in 2022 —

Chapter 7 Hand-in Assignment — Exponential Functions Chapter 7 Hand-in Assignment — Exponential Functions
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1. Fill in the characteristics for each graph shown below. 1. Fill in the characteflstics for each graph shown below.
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2. Label each of the following exponential equations as cither exponential growth or decay. 2. Label cach of the following exponential cquations as either exponential growth or decay.
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3u) Give the mapping that shows what happens to points on the base function, ¥ =3, when 3a) Give the mapping that shows whal happens 1o points on the base function, y=3", when

the equation is changed to y = 6(3) " - 2. the equation is changed to ¥ = 6(3)3° - 2.
e anged to ()/‘ ) (le>vﬁ (X-H/ 43 ~2)
vEe 4 right 28
b) Give the equation of the asymptote for the  equation’s graph. b) Giive the equation of the asymptote for the { equation’s graph.
y: -2
clFill in the table of key paints for the hase function. Then, use the mapping to create the ¢} Fill in the table of key points for the base function. Then, use the mapping to create the
table of image points that result when those original points are transformed. If any points are table of image points that result when those original points are transformed. 1f any points are
fractional, leave them in fraction form (not decimal form). fractional, leave them in fraction form {not decimal form).
Sketch the transformed graph on the grid. Include the horizontal asymptote on the graph, Sketeh the transformed graph on the grid. Include the horizontal asymptote on the graph,
using a dotted line. using a dotted line.
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) State the domain and range for the final, transformed graph. ) State the domain and range for the final, transformed graph.
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Aa) Give the mapping that shows what happens to points on the base function, y=[]3] . da) Give the mapping that showsmaﬂmppens‘g goimsonthe base function, y=[§] .
v~
when the equation is changed 1o y=—{i) +2. when the equation is changed to .V=—{§ +2.
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b) Giive the equation of the prote for the i equation’s graph. b Give the equation of the plote for the i equation’s graph.
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<) Fill in the table of key points for the base function. Then, use the mapping to create the <) Fill in the table of key points for the base function. Then, use the mapping to create the
table of image points that result when those original points are transformed. [f any points are table of image points that result when those original points are transformed. If any points are
fractional, leave them in fraction form (not decimal form). fractional, leave them in fraction form (not decimal form).
Sketch the ransformed graph on the grid. Include the horizontal asymptote on the graph, Sketch the ransformed graph on the grid. Include the horizontal asymplote on the graph,
using a dofted line. using a dotted line.
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d) State the domain and range for the final, transformed graph. ) State the domain and range for the final, transformed graph.
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The function y = -2{3" ] is transformed by translating 6 units lefl and 1 unit up.

a) What is the equation of the transformed function?

b The transformed function passes through the point (x.—17). Determine the value of x.

. For each part, create an exponential equation that describes the growth or decay.
a) A sample of cells contains 430 cells. It doubles every 3 days.

by The population of rabbits in a park is increasing by 15% every vear. Presently there are 28
rabhits in the park,

©) A 65-gram sample of a radioactive substance decays, with half-life 1820 years.

dp The intensity of light seen when scuba diving is reduced by 12% for each meter one

descends into the lake. (Remember, at the surface of the water one can see 10074 of the
available light )

@) Jane invests 1200 in an aceount that is compounded quarterly, at a rate of 3% per vear,

Solve for x, algebraically. (Hint: re-write equation in terms of a common base)y
a 16 =32

b (V5)7 = ()
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The function y = -2(3" ] is transformed by wanslating 6 units lefl and 1 unit up.
a) What is the equation of the m-.funm'd Fﬁl
f

3552(3

b) The transformed l'um:lmnp.usesﬂ.mu)ghl point (x.—17). Determine the value of x.
—7= 2 (b f*‘
x¢é
-13 = 2 (3 >
- = ¢
xd
9 = 3
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3 =35
= 2= Xt
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g =X
x = —Y

. For each part, create an exponential equation that describes the growth or dec

ay.
a) A sample of cells contains 450 cells. I>
s
A < nse (2)

by The population of rabbits in a park i
rabhits in the park,
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descends into the lake, (Remember, at the surface of The wa
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7. Solve for x, algebraically. (Hint: re-write equation in terms of a commaon base)
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8, The trout population in a lake has been doubling every 4 years, There were 300 trouf at the

initial count.
a) Write an exponential equation giving the number of trout, N, at time 7.

b} Determine the number of trout this equation predicts there will be 7 years after the
initial count, (Rouwnd dows fo the nearest whole trowr)

9. Atown had a population of 9700 people in 2003, Each year since then the population has

decreased by #%.
a) Write an exp ial equation 1o rep the population, P, of the town at time £,

b} What will the population be in the year 20307 (Rownd down to the nearest whole
prerson. )
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8, The trout population in a lake has beeridoubl very 4 years, There were 300 trout at the

initial count.
a) Wrile an exponential equation giving the number of trout, N,

y
Nw@ = 300 (2) !

time /.

b} Determine the number of trout this equation predicts there will be 7 years after the
initial count, (Rownd down fo the nearest whole trou)

g
N(7) does NOT N C") = 300 (Z>

mean we are
multiplying by 7. _ o) 7S ...
We are evaluating = 007,

t=7.

the function when S ~ /00 9 +4r vt

Each year since then the population has

9. A town had a population of 9700
= §7 =092

a) Write an exponential equation to represen pulation, P, of the fown at time 7,

Pr) = 9700 (O.‘iz)t/1

b} What will the population be in the year 20307 (Rownd down ta the nearest whole
person.) el

“This is 25 %u\r; alter Ho iatkial count.

Pls) = 9700 (090

12.06. 3325 --

=\ 120¢ é(n;k

P(25) means we are
evaluating the
function
whent=25
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